FAR<ERES> No.1

1. WOREHHICE X, (6) —3v2 x (—2v/5) x (—V3)
(1) V3 x(=2V/7)xV3
.
s (1) —2v3 = (-3V8) = V2
(2 V3+vV3+V3
3
s (8) V3 +(-3V3)+(—V3)
(3) VT xVTx(—V2)
.
2 9 —2v2 =5 = (—V2)
(4) 2v/5 xV3 +V3
.
. (10) V8 x (=3V7) x (—V2)
(5) V8 +VT+(—V2)
.
.
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EAB<ERESE> No.3
1. ROKXE BRI L,

(D 2V8 x V5 x (—V2)

2

(2) V2 +(—VT)xV2

(3) VZ+3V5 = (—V2)

3

(4) —2v3 =28 + (—V2)

(5) =3v3 x (—vV2)xV2

0

6) V2 x (—2v8)+V?2

(1) V2 x2V6 x (—V/2)

(8) 3v2 =+ (=3V6) = (—V2)

T

i

(9) —3v5 x3V7 x V3

M

(10) 3V5 = (=3v2) x (=V2)

03




FAR<FERES> No4

1. ROX & FRIZHE K,

(1) V5 x V8 x (=V3)

6) —3vV2 +(—vV2)=V2

%

(2) 23 x5 xV2

i

(7) —2v3 x5 +V3

1

3) VT +V5+(-V2)

g

®) —v5 +(=V5)+V2

4) V3 +V3xV2

s

= .

9) —V6 +vV2xV3

= .

K
(10) -3

(V) + (-V2)

I

03




EAHIB<ERESE> No.b
1. ROKXE BRI L,

(1) V6 =+ (—V8)+(—V2)

%

(2) V5 x3vV6 -3

JiiNy

3) VT = (—vV2)x V3

4) VT xV3+(—V2)

3

(5) 3V7 +(=3V3) x (—V3)

0

(6) V5 x2V5 +(—V2)

(7) VB x 20T x (—v/3)

Ny

(8) V5 =+ (—2v5)+v2

s

= .

9) V5 +2v3 xV3

s

(10) V5 =3 x (=V2)

03




